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Proper fractions

This means that the fraction is below 1 or a whole.

The denominator is bigger than the numerator.

Unit fractions

Numerator - How many
2 < parts you have

——4&@ vinculum

4 <33 Denominator- How

many total parts
there are

Mixed number and improper fractions

When you have a whole number and a fraction side by side,
like 1 %, it’s called a mixed number. You can convert this
into a fraction, but the numerator will be bigger than the

. . 3 .. .
denominator. In this case > This is called an improper

A unit fraction i fracti h1 fraction.
unit fraction is any fraction wit — .
as its numerator (top number), and l/_\]/ ‘ \| N /‘\ / ‘ \.
a whole number for the w
denominator (bottom number). - - — 3&1/ ?\u
What is a fraction? 15 "
Unit Fractions Fractions are used to represent smaller pieces Mixed number Improper fraction
B \ (or parts) of a whole.
{ T The parts might make up one thing, or more
/ | than one thing. Either way, altogether, they Simplifying fractions
; l 17 make up what’s called a whole. This just means that we use the lowest
possible numbers when we work out our
Non-Unit Fractions Equivalent fractions fractlons. We do th|§ to keep things slmple -
p— it stops us from ending up with fractions
] \ = Equivalent fractions are two or more fractions that are made up of huge numbers (which can be
' lI |_ all equal. A fraction is a part of a whole: the confusing). Simplifying fractions is another
denominator (bottom number) represents how many area which highlights the importance of
2 g ; equal parts the whole is split into; the numerator (top children mastering their times tables.

Non-unit fractions

A non-unit fraction is a fraction with
a number greater than one as its
numerator (top number) and a
whole number for the denominator
(bottom number).

number) represents the amount of those parts.
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* To write a fraction in simplest form or lowest terms
follow these two steps:

—I_|_ EIE ':ljzl 1 - Find the Greatest Common Factor (GCF) of the
numerator and denominator.

2 - Divide both the numerator and the denominator
16 by the GCF.

Example: 12 12-1,2,3,4,6,12 12 + 6 =
6 =

2
18  18-1,236,9,18 18 = 3



Year 3

Addition
3 1 4
— 4= =- “When adding fractions with
8 8 8 the same
Fraction bars: add the
v CECE s e T
8 8 8
Bar model:

Subtraction

Bar model:

“When subtracting
fractions with the same

~ subtract the

Fractions of a quantity

“The whole is divided into

equal parts.

Each partis _____ of the whole.”
L X N £ Xx>»
TINCIX)
®0® (: The whole is divided into
®P0® ( .:” [ J 4 equal parts. Each part is
l of the whole.
4
Bar models:
i1y | Oy | O TIIITy
i1y | Oy | Oty
] ] (] ] (1]
1 2 3
§0f69=23 §0f69=46 50f69=69
000 | 000 | 000
1 2 3
§0f36=12 §0f36=24 §0f36=36
24 +3=28
%of24=8
24 8x2=16
. . . %of24=16




Adding fractions

Year 4 “When adding fractions with
E_I_f =2=1§ the same , lonly
Finding equivalent fractions 6 6 6 6 add the !
Fraction bars:
Fraction bars Mathsbot - fraction wall 1 ! ' 1 : 1 ‘ 1 1 :
T ——— 6 3 6 b b 6 6 6 b
—em———— Bar model
all ; 10 10
Bar models Subtracting fractions “When subtracting fractions with
“I can divide each part 11 5 — 5 thesame___ ,lonly
into equal parts to 8 8 8 subtract the :
—————————— show that __ is X X
A T T B B equivalent to 7
X X X
................................ S 4 , , .
12-2=12-2.2 =2
T 6 6 6 6
' X X
Finding fractions of an amount X X
“The whole is divided into equal parts. Each part is of the whole.”
B0
Qoo Ooo Ooc Ity | O i9 | Ity S s [ [ e
EEEEEEEEEN EEEEEEEEEEEN NN EEEEN
"I T] (T T "I T L 7
1 2 3 = - i -
Z0f36=12 20f36=24 >of36=36 1o 0f80=8s0 50780=56
2 3

1
50f69=23 50f69=46 50f69=69 80+-10=8 7x8 =56



Year 5

Adding fractions

3/8 +9/16
- “When adding fractions with
different denominators, |
3/8=6/16 need to find a common

denominator.”

3/8+9/16=15/16

L. | L I
2 1
5 10 20
2,1,3_8,2,3_13
5 1072020720720 2

Subtracting fractions

X[X[X|X

9/10 — =5/10=1/2

“When subtracting fractions with different
denominators, | need to find a common
denominator.”




Multiplying fractions Finding fractions of anamount w1, 504 4 fraction of an amount

N “To multiply a fraction I need to divide by the_____ and
B [ [ T ]1sixth . . 5 : 2
by an integer, | multiply = of 240 = 200 multiply the result by the ___.
B [ [ [ J1sixth i
‘ - 4 sixths the__ bythe
B [ [ T ]1sixth integer and the . , 240 , . ‘
B [ [ [ J1sixth remains the same.” 40 ‘ 40 I 40 I 40 1 40 ’ 40
2/3x4 = 8/3 =22/3 | know 6 x 4 = 24
S0240+6=40 -;-of240=40 5x40 =200
1/3 1 1/3 1/3 | 1/3 | 1/3
Finding the whole
1/3 | 1/3 1/3 | 1/3 | 1/3
2
g of =6 If 2 equal
1/3 | 1/3 1/3 | 1/3 2 parts are 6, 1 part 6 &2
l must be 3
' 3x5=15
13 | 1/3 3|13(3]3]3 %of15=6
2 10 _ 3 1
-x5=—=1-
7
- of =24
? ?
( i T i I '\
6|l6|6|86
23/4 x3 = 81/4 —— . : v
010 00 00 010 oo 0o “ »
42 24+4=6
- - - "- - - T I .
6|6|6|6|6]6|6 1/7=6
BN | OONT] O]  (EON PEER [ — 7/7=7x6=42




Year 6

Adding and Subtracting fractions

1 1
5 + Z Find a common denominator.
R 1,1_4 3 _7
AR R 3 4 12 12 12
7 1 “To add/subtract the fractions, | could
- - E convert them both to V7
| - ag 2 444 9 5
first common multiple of 9 and 2 is 18 9" 2-18°18°18
1 1
1-+2-
2 6
1+2=3
1i+2l=§+£
1.1_3.1_4 S
S+ ==+ ==— OR
2 6 6 6 6 it
6 6
4 _ 4 _ -2
3+4==3==3% =22 _.4_32
6 "6 °3 =i =3 = 32
3 _47 _18 17 _36 _17 _19 _,9
3312 35-1%6"5 "10°10 1010 '10
5 710 OR
3_58
35 25
3 2L _-,8 47 _,16 ,7 _,9
35-49=25-135=210 "0 =10

Multiplying fractions

3
P i : 3 1
/ \ T e e T
Overlapping | ] 3 X 5 19 5
area \ 7
N s
13 -1 of3 fifths =1 fith
35 3
“When multiplying a pair of
fractions, | need to multiply the
and multiply the 7
2 x 4 2x4 8
375 3x5 15
3,1.3 4,3_12 4,2_8
45720 57773 5°3°15



Dividing fractions

3.,_] 1 4,11 4.5 2
273=] = ?.4__7 S +2= =
> i : i '\\‘1\\
/~  Each part is worth = -\
f \
; P J
y  ®3*27% J T
— =
g - £z
“I am dividing each
by sol
must split each part into
S 3 equal parts.”
20
475 20
g — — Q i — i l = = l g = — E
77T Ty 1y 7721407727

Percentages of amounts

100%

50% 50%

25% 25% 25% 25%

20% 20% 20% 20% 20%

10% | 10% | 10% | 10% | 10% | 10% | 10% | 10% | 10% | 10%

sv,lsx sxlsas 5x|sx. s-x.ls:\s sxls'.s sxlsa suls'.x sxlsx sxlsh sxlss

“If 100% is equal
to , then

% is equal

40% of 240
240
24 | 24 | 24 | 24 | 24 | 24 | 24 | 24 | 24 | 24
10% of 240=24 so 4x24=80+16=96
OR 120-24 =96
11% of 250
10% of 250 = 25
1% of 250 = 2.5
11% of 250 = 25 + 2.5 = 27.5
60% of ___ =4200
?
700
4200
4200 + 6 = 700
If 60% = 4200, then 10% = 700. 700 x 10 = 7000

100% = 7000




